Here we have a circuit with a current source and two elements.

We’re looking for the time-domain expression for the current through this element, i(t).

We’ll begin by converting this circuit into the phasor domain.

We’ll use the so-called blackboard bold notation for phasor current.

The directions are preserved for all the indicated currents.

Also notice that all of the sinusoidal forms are the same; they are cosine.

They are also all the same frequency.

We simply pull off the amplitude and phase of each one of our time-domain expressions.

We continue our analysis by looking at our phasor circuit.

We can apply KCL at the top node, and we will use this form of KCL here.

We have a single current going in, which is I.

We have two currents leaving that node.

Notice the source has its direction pointing opposite to our defined direction 

by the pink arrows, so we take that with a negative sign.

This current is in the same direction, so we leave that with a positive sign.

Before we can add these numbers, which are in polar format, we must convert them to rectangular form.

This is an operation that we will simply perform directly on the calculator. 

We can enter the value in polar form and press a single button to convert it to rectangular.

We then collect the real and imaginary parts together.

[math equation]

Note the negative sign on the 1.5.

Now our current has this complex value.

This would have the same unit, which is milliamps.

In order for us to get our time-domain expression, we need to convert this back to polar form.

[math equation]

From this we pick off the magnitude of the complex number as being the amplitude of our sinusoidal current.

We use the same form, cosine, the same frequency, and we have our phase of 120°.

The unit is milliamps.

Looks like we are finished.
